Opérations avec deux fractions mixtes (H)

Nom:

o

10.

Date:

Calculez chaque résultat.

sg—z— =
53415 =
52 _ 52
3
52433 =
5343 =
52 x 1> =
35455 =
53 +25 =

Note:
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Opérations avec deux fractions mixtes (H) Réponses

Nom:

N

10.

Date: Note:
Calculez chaque résultat.
4 7 49 25 24 8 2
B T9 79T 9 T3 T3
1 .1 11 3 14 7
Bt =53+t = 37 =1 =7
2 2 7 37 259 37
1— - = - _— = _— = — = —
5%°7 557 35 5 !
1 35 16 3 1
%6736 3 & "~ 2
3.3 8. b _48 4 172 48 13
"4 8 "4 8715 120 30 30

27710 2 10 2733 66 3
2 5 17 21 357 119 7
X T3S ® T 16 - 16
9 1 25 16 400 25 1
16%3 %63~ 28 = 3 =8
272 272 T 2711 0 2 11
1 1 11 5 16 8

Bt =3t 5 =1 %08
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